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One by detached and one by attached water — 3792122 7m PR1%02 717

OVERVIEW

The P05 reads:’ 93 932 70w AWK APWH 931 RAVY® D7 PHY R MWK IR WK 2IRT 90
Xnw>. According to 27 who maintains that 1°pwn cannot be 7707 1 A8 93P, the
words Xnw> "3 apwn 991 means that pwn are 192N WO to be axmv 9apn. The
Xnx explains that even though we know that 1"pwn are required to be P72 won
from the beginning of this P109 where it states Xnv> 2°% 1Y K12° WK "N DR 7o,
nevertheless we need two 22109 to teach us that 1°pwn are aRAW 2P 190N WIN
whether the Ppwn are detached (Pw1%n) from their source (they are in a vessel), or
whether the 7"pwn are attached (1"72171) to their source (in a pond). NM2OIN resolves
a difficulty and explains what is meant by 7"7217%.

mooIn anticipates a difficulty:
- 33991 99 01 199 999 (ro xapo) ANAT KDY

And regarding this which is written, 'va7 H¥ 2% 303 937, which teaches us that P2
require 0 W2 to be IRMY 22pn; what does this P05 teach us?

mooIn responds:
- 5539989 *¥9Wa 1M *NNa 11T (0w 35 91 PYINT 72 9993 1959NIN NN

The X723 already explained in the second p=2 of 9w noon that one oD is
regarding Xm0 received from a n» and one 709 is regarding receiving N2
from a Y@ and it is necessary for the 7710 to teach us Ax™ W37 both by a n» and a yw.

mMooIN responds to an anticipated difficulty:’
= TTONA 11N NN D92IN1 1931 PPYIYN )2 PITIN PNRY 511199359 9N NP 199927 19999

Lo %0 (rnw) P
% > p109. The entire P05 reads; D% KT KAV THY DN 011 YT HY 2% 107 "I,
> We already know from 7% P09 that 1pwn are 2°wan both by Pw12n and 1727, Seemingly we should say that 1pwn
are XM 9apn (as is indicated in 79 ?100) and we will derive PwY?n and 112307 from 7% 2109 and 17°.
* A nn is not 79218 v unless there was 1°pwn WwST; the same applies to a yw.
5 See *"wA there >3 7"7 that m» P09 is referring to yw and 7% P05 (even though it is also discussing a yw,
nevertheless through 711y 11X oX it) is referring to a nn.
% If the requirement of w271 would be only by 77w we could not derive na from Y2 since n» is more “»n than yaw
(for nn is Xnwn for seven days while a 7w is X»un only for one day), and we could not derive YW from n» because
YW is Xnwum even AwTyd1 however a N1 requires a N°12. I would think that the 9vam is Xnun even without war.
7 We are saying that two 2°p109 are required for wi>n and 727 and two 2’109 are required for yaw and nn, so
seemingly we require four 2’109 (two for YW [by 123 w17n] and two for N [by 121 wi7n]), however we only
have three o°p05.
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Therefore since the ?wp revealed to us by one of them that there is no
difference between 1w»n and 221, we understand that the same applies to
the other’ (that it is 2>won whether w170 or 11217).

mooIn explains what is meant by °721n:
= 0971 )9 YIIND NIYNI DIIND 17273 1NN NYWIAT TUN 12 PNYY 1929 YD D92INN0)

And the R''2%9 explained that 2992 means while the 7pwn was attached to its
source it came in contact with the 92 and then he raised the %218 from the

water; that is when the 70X is Xm0 225 Wwam -
- 'y mwn 1 pa9) PPYIN NI0N PNT 9w 1PN DN 1TIYA YA ON YaN

However if the 70X touched 7% while the 92X was still in the water, the 5218
is not NMY 2p% w1 and does not become XY from touching the R, as the
TR states in PSR NooH -

ANV D90 P2 NINY 9910590 1910 XY N1 11 nayna s
The radish is in the cave pool; the 1771 (who is Xnv and X»vn) may wash the
radish while it is still in the pool of the cave and the radish is "17%; however if the
771 raised the radish a miniscule amount above the water the radish becomes
N2 from touching the 7171 for it was 1R™Y 72p% WM.

SUMMARY

There are three 2’105 regarding n¥mw 2P 192X W31, two of them teach that the
TPwn can be either 7211 or w1n and the third 105 teaches that "wor is required by
a yW and a n» and it is °wan whether it is ¥Y9n or 1217, By 121 the 92% must
first be separated from the 112177 2’ and only then is it Ww3mn.

THINKING IT OVER
If we assume that by 7211 the 7pwn is not °won until the 79X is removed from the
Water,12 then it is already v17n; why do we need an extra ,7105?!13

8 Let us assume n» (based on footnote # 5).
’ We assume this means 7. See footnote # 8.
19 From the X"2w"77 Moo it seems that it is not Xny (but it becomes w21 even while in the water) See ‘Thinking it
over’.
' See the 2"y there who writes, X1w 93 AX , WM W20 R TAPH *93 710 ,Xnw *93 932 (AN WK Tpwn 931) N7
WHNI ROW TAT 93 DOWR JIRY LYRIRT 1 2OWIPN JPRY 191 MNI22W 2% PPIDRY ,7WIn wbn.
2 See (the text by) footnote # 10 & footnote # 11.
13 See Hxmw 127 (and YT ).
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